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No. of Question Breakup Marks Total

10 part @ 1

to marks each

(08×02) 16

10 03 marks 03

11 to 13 04 marks each

(03×04) 12

14 05 marks

(01×05) 05

15 06 marks

(01×06) 06

16 to 20 02 Marks each

(05×02) 10

21 03 marks

(01×03) 03

Unitwise breakup Marks & Questions

10+2 Accountancy

.

Unit-1 - Accounting for not-for-profit organisations Total

Break up : Questions 01 01 01

Marks 01 + 02 + 05 = 08 marks

Types MC theory (Practical or Theory Choice)

Unit-2 - Accounting for Partnership Firm

Break up : Questions 02 01

Marks 01 mark each + 02 = 04 marks

PART-A

Accounting for not-for-profit organisations partnership firm & company



Types MC (Practical)

Unit-3 Reconstitution of Partnership

Break up : Questions 01 01 02 01 01

Marks 02 + 03 + 02 + 04 + 06 = 17 marks

Types Theory (Practical) MC + (Theory or Practical)

Unit-4 Accounting for Share Capital & Debenture

4(i) Accounting for Share Capital

Questions 03 02 01

Marks 02 mark each + 01 marks each + 04 = 12 marks

Types Theory MC Practical

4(ii) Accounting for Debenture

Questions 02 01 01

Marks 02 marks each + 01 mark + 04 marks = 09 marks

Types Theory MC Practical

Unit-5 Analysis of Financial Statements

Questions 03 01 01

Marks 02 marks each + 01mark + 02 marks = 09 marks

Types Theory MC Practical

Unit-6 Cash flow statements

Questions 03 01 01

Marks 02 marks + 01 mark + 03 marks = 06 marks

Types Theory MC Practical

PART-B (Analysis of Financial Statements)



Max. Marks = 65

wed : 3 hours Max. Marks 65

Note :

First Question of Question Paper is multiple choice from A and B Part.

Q1. (i)

The Minimum number of Partners in a Firm is ?

(a) 2 (b) 7 (c) 10 (d) 20 (1)

(ii)

In the absence of Partnership Deed, interest will be given on partners loan.

(a) 5% p.a. (b) 6% p.a.

(c) 9% p.a. (d) 10% p.a. (1)

(iii)

The amount of Goodwill brought in by new Partner is distributed among old

Partners

(a) (in new ratio)

(b) (in sacrificing ratio)

(c) (in old ratio)

(d) (Not in any ratio) (1)

(iv)

The meaning of retirement of a partner is

(a) (Incoming of a Partner in a Firm)

(b) (Outgoing of a Partner from the Firm)

(c) (Outgoing of all the Partners from the

firm)

(d) (Death of all the Partners) (1)

(v)

Income and Expenditure A/c reveals

(a) (Gross Profit) (b) (Net Profit)

(c) (Surplus or Deficiency)

(d) (Cash Balance) (1)

(vi)

(Calls-in-Arrears attract interest) :

(a) 10% (b) 6% (c) 8% (d) 9% (1)

(vii)

Company gives to the shareholders

(a) (Commission) (b) (Interest)

(c) (Dividend) (d) (Profit) (1)

Model Question Paper

Subject : Accountancy

Class 10+2

fo”k; % ys[kk’kkL=

iz’u i= dk iz’u la[;k ,d ¼1½ cgqfodYi izdkj dk gS tks fd Hkkx v rFkk Hkkx c ls gSA

,d QeZ ds lk¡>snkjksa dh U;wure la[;k gksrh gS \

lk¡>snkjh lays[k ds vHkko esa ,d lk¡>snkj }kjk QeZ dks fn, x, _.k ij C;kt
fn;k tk,xkA

u, lk¡>snkj }kjk udn ykbZ xbZ [;kfr dh jkf’k iqjkus lka>snkjksa esa ck¡Vh tkrh gSA

u, vuqikr esa
R;kx vuqikr esa
iqjkus vuqikr esa
fdlh Hkh vuqikr esa ugha

lka>snkj ds vodk’k xzg.k dk vk’k; gS &

fdlh lka>snkj dk QeZ esa vkuk
fdlh lka>snkj dk QeZ ls pys tkuk
lHkh lka>snkjksa dk QeZ ls pys tkuk

lHkh lka>snkjksa dh e`R;q gks tkuk
vk;&O;; [kkrs ls Kkr gksrk gS

ldy ykHk ’kq) ykHk
vkf/kD; ;k deh
udn dks k

u pqdkbZ xbZ ;kpuk ij C;kt dh nj gksrh gSA

dEiuh va’k/kkfj;ksa dks nsrh gS

deh’ku C;kt
ykHkka’k ykHk

Time Allo

”



(viii)

Debenture cannot be redeemed at

(a) (Premium) (b) (Discount)

(c) (Par)

(d) 10% (More than 10% Premium) (1)

(ix)

How much is the ideal quick Ratio ?

(a) 1:1 (b) 1:6 (c) 1:2 (d) 2:1 (1)

(x)

(An example of cash flow from Financing Activities)

(a) (Sale of Fixed Assets)

(b) (Cash received from Customer)

(c) (Payment of Dividend)

(d) (Income from Investment) (1)

Accounting for not for Profit Organisations, Partnership and Company accounts.

Q2.

%

Mr. Ram is a Partner in a firm. He draws 5000 at the beginning of every month. Calculate

interest on drawing @ 12% p.a. for the year 2016. (2)

Q3.

hat is sacrificing ratio ? (2)

Q4.

hat is share ? (2)

Q5.

hat is meant by Reserve Capital ? (2)

Q6.

hat is meant by redemption of debenture? (2)

Q7.

(2)

Q8.

Q9.

w

Q10.

_.k i=ksa dk ’kks/ku ugha fd;k tk ldrk

izhfe;e dVkSrh
leewY;

izhfe;e ls vf/kd
vkn’kZ ’kh?kz vuqikr fdruk gksrk gS \

foÙkh; lEcU/kh fØ;kvksa ls jksdM+ izokg dk mnkgj.k gSA

LFkk;h lEifÙk;ksa dk foØ;
xzkgd ls izkIr udnh
ykHkka’k dk Hkqxrku
fofu;ksxksa ls izkIr vk;

xSj ykHk laxBuksa] Lkka>snkjh rFkk dEiuh [kkrksa ds fy, ys[kkaduA

Jh jke fdlh QeZ esa lka>snkj gSA izR;sd ekg ds ’kq: esa og 5000 dk vkgj.k djrk gSA
12 izfro kZ dh nj ls o kZ 2016 esa vkgj.k ij C;kt dh x.kuk dhft,A

R;kx vuqikr D;k gS \

va’k D;k gksrk gS \

lafpr iw¡th ls D;k vfHkizk; gS \

_.k i=ksa ds ’kks/ku ls D;k vfHkizk; gS \

vk; ,oa O;; [kkrs rFkk ykHk&gkfu [kkrs esa dksbZ nks vUrj dhft,A

va’kksa ds gj.k ls D;k vfHkizk; gS \

va’k vkSj _.k i= esa D;k varj gS \

,d QeZ 300]000 dh iwath ij 40000 ykHk dekrh gSA lkekU; ykHk nj 10 gSA [;kfr
dk ewY; vf/k&ykHk dk rhu o kZ dk Ø; gSA QeZ dh [;kfr dk ewY; Kkr dhft,A

Hkkx&v

”

”

%

Part-A

W

W

W

W

Differentiate any t

What is meant by Forfeiture of shares ?

What is the difference bet een Share and Debenture ? (2)

Afirm earned a profit of 40000 on the capital of 300,000. Normal rate of return is 10%.

Calculate the value of good

”

wo points Income and Expenditure A/c with Profit and Loss A/c.

(2)

will at three years purchase of Super Profit. (3)



Q11.

Q12. A B C

C

fuxZe rFkk ’kks/ku ds le; fuEufyf[kr ysunsu dks tuZykbt dhft, %
100 dk 100 _.ki= izfr 95 ij fuxZfer rFkk 110 ij iquHkqZxrku ;ksX;

vkSj lka>snkj gSa ftudk ykHk gkfu vuqikr 3%2 gSA 1 tuojh 2015 dks os dks QeZ esa izos’k nsus rFkk
mls ykHkksa esa ls 1@4 fgLlk nsus ds fy, lger gks x,A iwath ds fy, rFkk viuh
[;kfr ds fgLls ds fy, udn ykrk gSA tuZy esa vko’;d izfof V;k¡ dhft,A tc [;kfr dh jkf’k dks QeZ
esa gh jgus nsrs gSaA

u, lk>snkj ds izos’k ds le; lEifÙk;ksa ,oa nkf;Roksa ds iqueZwY;kadu ds lEcU/k esa D;k tuZy izfof V;ka dh
tkrh gSaA

va’k dks 70 esa iw.kZ pqdrk eku dj dks iqu% fuxZfer dj fn;k x;k gks rks vko’;d jkstukepk
izfof V;k¡ cukb,A

,d Dyc ds fuEu fooj.kksa ls vk;&O;; [kkrk rS;kj dhft,A

¼fofu;ksx½ ¼31-12-2015½

”

”

”

Journalise the follo 100 debenture of

100 each issued at 95 and repayable at 110. (4)

Aand B are partners’sharing profit and losses in the ratio of 3:2. They agreed to admit C into

partnership on 1st Jan, 2015 and give him 1/4th share of profit. C brings 6000 for capital and

4000 his goodwill. Pass necessary journal entries when goodwill is retained in the firm.  (4)

or

At the time of admission of a partner what journal entries are passed for Revaluation ofAssets

and Liabilities ? (4)

Q13.

B

Ashare of 100 on which 80 has been called up 60 has been paid is forfeited. Pass

necessary journal entries if it is reissued to B @ 70 as fully paid up. (4)

Q14.

Write difference between Receipts and PaymentsAccounts and Income and Expenditure

Account.

OR

Prepare Income and ExpenditureA/c from the following particulars of a club.

To Balace b/d 26750 By Salaries 22500

To Subscriptions By Postage 950

2014 1250 By Rent 9000

2015 52500 By Printing and Stationery

2016 750 54500 2800

To Donation for swimming By Furniture

Pool 75000 (Purchased on 1.1.2015) 35000

To Entrance Fees (Revenue) By Investment 62500

750 By Sports Material 10000

To Sale of old Furniture By Misc. Exp. 3500

1500 By Bal. c/d 12250

158,500 158,500

6000 4000

Receipts & Payment A/c for the Year ended 31st Dec., 2015

Receipts Amount Payments Amount

wing transaction at the time of issue and redemption.

vFkok

,d 100 okyk va’k ftl ij 80 eaxok, x, Fks vkSj 60 izkIr gq, dks tCr dj fy;k x;kA ;fn bl

izkfIr ,oa Hkqxrku [kkrs rFkk vk;&O;; [kkrs esa vUrj fyf[k,A

vFkok

¼izkjafHkd ½ ¼osru½
¼pank½ ¼Mkd [kpZ½

¼fdjk;k½

¼NikbZ o ys[ku lkexzh½
¼QuhZpj ½

¼rSjkdh rkykc ds fy, nku½

izos’k ’kqYd ¼[ksy lkexzh½
¼fofo/k O;;½

iqjkus QuhZpj dk foØ; ¼vfUre ’ks k½

’ks k”

”



(I)

(ii) %

(i) Subscription of 2500 outstanding for 2015.

(ii) Depreciate furniture at 10% and Sports material is valued at 9000 on 31.12.2015

(5)

Q15.

A, B and C were partners sharing profits and losses in the proportion of 3:2:1 respectively. The

Balance Sheet of the Firm on 31st December, 2014 was as follows :

Sundry Creditors Cash at Bank 2500

19000 Debtors

Bill Payable 5000

Reserve Fund 12000

CapitalAccounts

A 40000

B 30000

C 95000

B (i)

(ii) % %

(iii) % % (iv)

B

B retires on that date subject to the following adjustments : (1) Goodwill of the firm to be valued

at 18000 and is to be written off later on; (ii) Plant and Machinery to be depreciated by 10% and

Motor Vans by 15% (iii) Stock to beAppreciated by 20% and Building by 10% and (iv) The

Reserve for Doubtful Debts to be increased by 1950. Prepare Revaluation, Partners capital

A/c and the Balance Sheet of the firm after B retirement. (6)

or

Explain the procedure of determining the amount payable to deceased partner and different

ways in which amount is paid.

Information :

Liabilities Amount Assets Amount

131,000 131,000

16000

Less Reserve 500 15500

Stock 25000

Motor Vans 8000

Plant and Machinery

35000

Factory Building

45000

25000

lwpuk,¡ %
o kZ 2015 dk pUnk 2500 vnÙk gSA
QuhZpj ij 10 gzkl yxkb;sA 31 fnlEcj] 2015 dks [ksy lkexzh dk ewY;kadu 9000 fd;k
x;kA

dks mudk fLFkfr fooj.k fuEu FkkA

”

v] c rFkk l lk>snkj Fks tks fd ykHk gkfu dks 3%2%1 ds vuqikr esa foHkkftr djrs Fks A 31 fnlEcj 2014

¼jksdM+ cSad esa½
¼fofo/k ysunkj½ ¼nsunkj½

¼ns; foi=½
¼lap; fuf/k½

¼iwath [kkrs½

fuEu ’krks± ij vodk’k xzg.k dj ysrk gSA [;kfr dk ewY;kadu 18000 ls fd;k tk,xk ftls ckn esa

vifyf[kr dj fn;k x;k( la;U= vkSj e’khujh ij 10 rFkk eksVj oSu ij 15 dh nj ls gzkl yxkuk

gS( LdU/k dh dher dks 20 rFkk dkj[kkuk Hkou dh dher dks 10 ls c<+kuk gS( ,oa vizkI; _.k

ds fy, lap; dks 1950 ls vkSj c<+kuk gSA iquewZY;kadu [kkrk iwath [kkrs ,oa ds vodk’k xzg.k ds ckn

dk fpëk cukb,A

vFkok

e`r lk>snkj dks ns; jkf’k dh x.kuk rFkk blds Hkqxrku djus dh fof/k;ksa dk o.kZu djksA

¼LdU/k½
¼eksVj oSu½

¼la;a= vkSj e’khujh½

¼dkj[kkuk Hkou½



Hkkx&c ¼foÙkh; fooj.kksa dk fo’ys k.k½”

Q16.

Name the major heading of the assets side of a Company’s Balance Sheet organised

and presented. (2)

Q17.

What is meant by Financial Statement ? (2)

Q18.

What is Comparative Balance Sheet ? (2)

Q19.

What is meant by Cash flows ? (2)

Q20. A.B. Ltd. gave information its Revenue from operations and Gross Profit.

Sale 20000 25000

Gross Profit 5000 8000 (2)

2010 2011 (G.P. Ratio)

Q21.

Compute cash from operating activities from the following details.

(Profit and Loss A/c) 110,000 120,000

(Debtors) 50,000 62,000

(Outstanding Rent) 28,000 42,000

(Goodwill) 80,000 76,000

(Prepaid Insurance) 8,000 4,000

(Creditors) 26,000 38,000

(3)

fdlh dEiuh ds laxfBr rFkk izLrqr fLFkfr fooj.k ds ifjlEifÙk i{k ds izeq[k ’kh kZdksa ds uke fy[kksA

foÙkh; fooj.kksa ls D;k vfHkizk; gS \

rqyukRed fLFkfr fooj.k D;k gksrk gS \

jksdM+ izokg ls D;k vfHkizk; gS \

¼fcØh½
¼ldy ykHk½

vkSj ds fy, ldy ykHk Kkr dhft,A

fuEu fooj.kksa ls lapkyu fØ;kvksa ls jksdM+ dk ifjdyu dhft,A

ykHk&gkfu [kkrk
nsunkj
vnÙk fdjk;k
[;kfr
iwoZnÙk chek
ysunkj

2010 2011

2012 2013

Part-B (Analysis of Financial Statement)

”



uewuk ç’uiz= dk gy
Solutions of Sample Question Paper

Accountancy 10+2

1) i) (a) 2

ii) (b) 6% p.a.

iii) (c) Sacrificing Ratio

iv) (b) Outgoing of a Partner from the firm

v) (c) Surplus or Deficiency

vi) (a) 10%

vii) (c) Dividend

viii) (b) Discount

ix) (a) 1:1

x) (c) Payment of Dividend (1×10=10)

¼R;kx vuqikr½

fdlh lka>snkj dk QeZ ls pys tkuk

vkf/kD; ;k deh

ykHkka’k

dVkSrh

ykHkka’k dk Hkqxrku

2) Int. on Drawings = Total Drawings × ×

Total Drawings = 5000 × 12 = 60,000

Int. on drawings = 60000 × × = 3900 (2)

3)

(2)

4)

(Share) (2)

5)

(2)

6)

(2)

7)

(2)

og vuqikr ftls QeZ ds iqjkus lk¡>snkj ds i{k esa R;kx djus ds fy;s lger gksrs R;kx vuqikr dgykrk gS

bldh x.kuk fuEu lw= }kjk dh tkrh gSA

la;qDr iw¡th okyh dEiuh dh iw¡th NksVh&NksVh bdkb;ksa esa foHkkftr gksrh gSA bl NksVh bdkbZ dks va’k

dgk tkrk gS vkSj dEiuh dh iw¡th dks va’k iw¡th dgrs gSaA

dEiuh vf/kfu;e ds vuqlkj dEiuh ,d fo’ks k izLrko ikl djds u ekaxh xbZ iw¡th ds fdlh Hkkx dks

lafpr eku ldrh gS ftls dsoy dEiuh ds lekiu dh fLFkfr esa gh ekaxk tk ldrk gSA

_.ki=ksa ds ’kks/ku ls vfHkizk; _.ki=ksa dh jkf’k dks _.ki=/kkfj;ksa Hkqxrku djds +_.k i=ksa ds izfr nkf;Ro

dks lekIr djuk rFkk budk ’kks/ku _.ki= fuxZeu dh ’krks± ds vuqlkj fuf’pr le; ds ckn fd;k tkrk
gSA

vk/kkj vk; o O;; [kkrk ykHk o gkfu [kkrk

1- laLFkk,¡ ;g ykHk u dekus okyh laLFkkvksa }kjk cuk;k ;g ykHk dekus okyh laLFkkvksa

tkrk gSA }kjk cuk;k tkrk gSA

2- mís’; bl [kkrs dk eq[; mís’; vk; dk O;; ij vFkok bl [kkrs dk eq[; mís’; ’kq)

O;; dk vk; ij vkf/kD; Kkr djuk gksrk gSA ykHk o gkfu Kkr djuk gksrk gSA

Sacrificing Ratio = Old Share – New Share

(Reserve)

”

rate
100

6½
12

12
100

13
24

2

1300



8)

(2)

9)

(2)

10) Normal Profit = Cap. Invested × Normal rate of return

100

= Normal Profit = 3,00,000 × = 30,000

Super Profit =Actual /Average Profit – Normal Profit

Super Profit = 40,000 – 30,000 = 10,000

Goodwill = Super Profit × No. of Year purchase

Goodwill = 10,000 × 3 = 30,000 (3)

11) Journal Entries :

At the time of Issue At the time of Redemption

BankA/c – Dr 9500 DebentureA/c – Dr. 10,000

Loss on Issue of DebentureA/c – Dr 1500 Premium on Redemption

To DebentureA/c - 10,000 of Debenture – Dr. 1,000

To Premium on To BankA/c 11,000

Redemption of Debentures 1,000 (Being debenture Redemption
(Being Debentures issued at 95 at Premium)

and Repayable at 110)

(4)

12) Journal Entries

Date Particulars LF Dr. Cr.

Amount Amount

Jan. 2015 Cash/ BankA/c Dr 10,000

To C’s capitalA/c 6000

To Premium for GoodwillA/c 4000

(Being amount of Goodwill & Capital

brought by C)

Premium for GoodwillA/c - Dr . 4,000

ToA’s capitalA/c 2400

To B’s capitalA/c 1600

(4)

;fn dksbZ va’kk/kkjh vkcaVu rFkk fdlh ;kpuk jkf’k dk Hkqxrku ugha djrk rks dEiuh bl jkf’k dk C;kt
lfgr Hkqxrku djus dk uksfVl Hkstrh gS ;fn og fQj Hkh Hkqxrku ugha djrk rks dEiuh dks ,sls va’kk/kkjh
ds va’kksa dks gj.k djus dk vf/kdkj bls va’kksa dk gj.k dgk tkrk gSA ,sls va’kk/kkjh lnL;ksa ds jftLVªj ls
gVk fn;k tkrk vkSj mlls izkIr vc rd dh jkf’k tCr dj yh tkrh gSA

vk/kkj va’k _.ki=
1- izd`fr va’k dEiuh dh iw¡th dk ,d Hkkx gksrk gSA _.ki= dEiuh ds _.k dk ,d Hkkx gksrk gSA
2- /kkjd va’k ds /kkjd dks va’kk/kkjh dgk tkrk gSA _.ki= ds /kkjd dks _.ki=/kkjh dgk tkrk gSA
3- fLFkfr ;g dEiuh ds ekfyd gksrs gSaA ;g dEiuh ds ysunkj gksrs gSaA
4- lqj{kk va’k lqjf{kr ugha gksrsA _.ki= lqjf{kr gksrs gSaA

(BeingAmount of Goodwill Cr to old

Partners’s capitalA/c in their sacrificing

ratio)

10
100



OR

Date Particulars LF Dr. Cr.

Amount Amount

RevaluationA/c Dr

To S/Assets (By Name)

(Being decrease in the

value ofAssets)

S/AssetsA/c Dr

(By Name)

To RevaluationA/c

(Being increase in the value ofAssets)

S/LiabilityA/c Dr

(By Name)

To RevaluationA/c

(Being value of liability decreased)

RevaluationA/c Dr

To S/ LiabilityA/c (By Name)

(Being value of liability is increase)

RevaluationA/c Dr

To old Partner’s Cap.A/c

(By Name)

in old Ratio

(Being Profit on revaluation transferred

to old Partner’s capitalA/c in old Ratio)

Old Partner’s CapitalA/c - Dr.

(By Name)

To RevaluationA/c

Being Loss on revaluation transferred

to old Partner’s Cap.A/c in old Ratio

vFkok

lEifÙk;ksa ds ew0 esa deh gksus ij

lEifÙk;ksa ds ew0 esa o`f) gksus ij

nkf;Roksa esa deh gksus ij

nkf;Roksa esa o`f) gksus ij

;fn dksbZ ykHk iquewZY;kadu ij gks

;fn dksbZ gkfu iquewZY;kadu ij gks



13) Date Particulars LF Dr. Cr.

Amount Amount

Share CapitalA/c Dr. 80

To share unpaid callA/c 20

To share forfeitureA/c 60

(Being share forfeiture for Non-

Payment of Call)

BankA/c Dr. 70

Share forfeitureA/c Dr. 30

To share capital 100

(Being forfeiture share Reissued to be

at 70 fully paid up)

Share forfeitureA/c Dr. 30

To Capital ReserveA/c 30

(Being Balance of share forfeitureA/c

T/P to Capital ReserveA/c)

(4)

14)

(5)

or

vk/kkj izkfIr o Hkqxrku [kkrk vk; o O;; [kkrk

1- izd`fr ;g ,d okLrfod [kkrk gSA ;g ,d ukeek= [kkrk gSA

2- mís’; bl [kkrs dks cukus dk eq[; mís’; bl [kkrs dks cukus dk eq[; mís’; ,d fuf’pr

,d fuf’pr vof/k ij udn ysu nsuksa vof/k dh vk;xr izkfIr;ksa o O;;ksa ds ’kq) ifj.kkeksa

dks tkuuk gksrk gSA ¼vkf/kD; ;k deh½ dks tkuuk gksrk gSA

3- vfUre o kZ ds vUr esa ;g [kkrk vafre jksdM+ bl [kkrs dk vafre vk; dk O;; ij vkf/kD;

’ks k rFkk cSad ’ks k iznf’kZr djrk gSA vFkok O;; dk vk; ij vkf/kD; vFkkZr

deh fn[kkrk gSA

4- enksa ds izdkj blesa vk;xr rFkk iw¡thxr nksuksa izdkj blesa dsoy vk;xr enksa dks fn[kk;k tkrk gSA

dh enksa dks fn[kk;k tkrk gSA

5- fLFkfr fooj.k bl [kkrs ds lkFk fLFkfr fooj.k cukuk bl [kkrs ds lkFk fLFkfr fooj.k cukuk vko’;d

vko’;d ugha gksrkA gksrk gSA

vFkok

(real) (Nominal)

(surplus)

(Deficit)

’ks k ’ks k” ”

” ”

”



Income & Expenditure A/c

as on 31st Dec., 2015

Dr Cr

To Salaries 22,500 By Subscription 52500

To Postage 950 (+)Add O/standing 55,000

To Rent 9,000 By Entrance Fees 750

To Printing & Stationery 2,800

To Misc. Exp. 3,500

To Depreciation on

furniture

(10% on 35000) 3500

Sports material

( 10,000 – 9000) 4,500

To Excess of Income

over Expenditure 12,500

55,750 55,750

(5)

15) RevaluationAccount

To PlantA/c 3500 By Stock 5000

To Motor VansA/c 1200 By BuildingA/c 4500

To Reserve for D.

DebtsA/c 1950

To Profit

A’capital 1425

B’capital 950

C’capital

9500 9500

To B’s Capital 4500 - 1500 By Balance b/d 40000 30000 25000

A/c

To B’s Loan - 40950 - By Reserve

A/c FundA/c 6000 4000 2000

To Bal. c/d 42925 - 25975 By Revaluation

A/c 1425 950 475

ByA’s capitalA/c - 4500 -

By C’s capitalA/c - 1500 -

47425 40950 27475 47425 40950 27475

(5)

Expenditure Amount Income Amount

Partners’ Capital A/c

Particulars A B C Particulars A B C

2500

1000

475

2850



Balance Sheet of A and C

Liabilities Amount Assets Amount

S. Creditors 19000 Cash at Bank 2500

B/P 5000 Debtors 16000

B’s LoanA/c 40950 Less Provision 13550

CapitalA 42925 (–) for D. debts

C 25975 8900 Stock 30000

Motor Vans 6800

Plant & Machinery 31500

Factory Building 49500

133850 133850

(6)

OR

Deceased Partner’s CapitalA/c Dr

To Cash / BankA/c

(Being amount due to deceased Partner Paid off)

Deceased Partner’s CapitalA/c Dr

To Deceased Partner’s LoanA/c

(Being Balance of Deceased Partner’s Cap.A/c T/D to his loanA/c) (6)

16) 1 NON-CURRENTASSETS

2 CURRENTASSETS (2)

2450

vFkok

e`r lk>snkj dks ns; jkf’k dh x.kuk bl izdkj gksrh gS &

le; ds vk/kkj ij fiNys o kZ ds ykHk vk/kkj ij fiNys dbZ o kks± ds vkSlr ykHk
ds vk/kkj ij

fcØh ds vk/kkj ij

%& bl fLFkfr esa xr o kZ dk ykHk fn;k x;k gksrk gSA bl ykHk ds vk/kkj ij e`r
lk>snkj dh e`R;q dh frfFk rd ds ykHk dh x.kuk dh tkrh gSA

fiNys dbZ o kks± ds vkSlr ykHk ds vk/kkj ij %& bl n’kk esa e`r lk¡>snkj ds ykHk dh x.kuk fuf’pr o kks± ds
vkSlr ykHkksa ds vk/kkj ij dh tkrh gSA ;gka vkSlr ykHk dqy ykHkksa

dks ykHk ds o kks± ls Hkkx nsdj Kkr fd;k tkrk gSA

fcØh ds vk/kkj ij %& dbZ fLFkfr;ksa esa e`r lk¡>snkj ds ykHk dh x.kuk foØ; ds vk/kkj ij fudkyus ds fy, lger gks

tkrs gSaA bl n’kk esa fiNys o kZ dk ykHk o foØ; nksuksa fn, tk,axs rFkk e`r lka>snkj dh frfFk rd pkyw fcØh Hkh nh

tk,xhA ;gka ykHk dh x.kuk vuqikfrd foØ; ds vk/kkj ij gksxh o blh ds vk/kkj ij e`r lk¡>snkj ds ykHk dh x.kuk e`R;q
dh frfFk rd gksrh gSA

¡ %& ¼1½ ,d eq’r jkf’k esa Hkqxrku ¼2½ _.k [kkrk [kksy dj Hkqxrku

¼1½ ,d eq’r jkf’k esa Hkqxrku %& bl fof/k esa e`rd lk¡>snkj ds oS/kkfud izfrfuf/k dks lk¡>snkj fgLls dk Hkqxrku
udn ;k pSd }kjk fd;k tkrk gSA blds fy, fuEu izfof V cukbZ tkrh gSA

¼2½ _.k [kkrk [kksydj %& ;fn lk¡>snkjh /keZ e`r lk¡>snkj dh ns; jkf’k dk Hkqxrku orZeku lk/kuksa ls rRdky dj
fn;k tk;s vr% ns; jkf’k dks ml lk¡>snkj ds _.k ds #i esa eku dj _.k [kkrk [kksy dj gLrkarfjr dj fn;k
tkrk gSA bl _.k ij QeZ C;kt dk Hkqxrku Hkh djrh gSA bl fof/k ij fuEu izfof V cukbZ tkrh gSA

(a) i) ii)

(b)

i)

ii)

” ”

”

” ”

”

”

”

”

fiNys o kZ ds ykHk vk/kkj ij

e`r lk¡>snkj dks Hkqxrku dh fof/k;k

”

(Average Profit) (Average Profit) (Total

Profits)

(b)



17)

18)

19)

20) Gross Profit Ratio = × 100

for 2011 = × 100 = 25%

for 2012 = × 100 = 32% (2)

21)

Cash Flow from Operating Activities

Statement of Profit and 10000

during the year

(+) Add : Non-Cash items

Increase in outstanding Rent 14000

Goodwill written off 4000

Decrease in Prepaid Insurance 4000

Increase in Creditors 12000 34000

44000

increase in cash from operatingActivities 32000

(3)

foÙkh; fooj.kksa ls vfHkizk; ykHkiznrk o foÙkh; fLFkfr crkus okys fooj.kksa dks foÙkh; fooj.k dgk tkrk gSA mnkgj.k ds

fy;s ykHk o gkfu [kkrk o fLFkfr fooj.k vkfn foÙkh; fooj.kksa dks Li’V djrs gSaA

¼2½

rqyukRed fLFkfr fooj.k esa ,d gh /keZ ds nks ;k nks ls vf/kd o kks± ds fLFkfr fooj.kksa esa leku enksa]

enksa ds lewgksa ,oa laxfBr enksa dh izo`fÙk ds v/;;u dks rqyukRed fLFkfr fooj.k dgk tkrk gSA ¼2½

jksdM+ izokg ls vfHkizk; fd jksdM+ rFkk jksdM+ lerqY; ds lzksrksa vkSj mi;ksxksa ls gSA vFkkZr~

;g fooj.k jksdM+ ds cgko dks fn[kkus ds fy;s cuk;k tkrk gSA ¼2½

(Profit & LossA/c) (Balance Sheet)

(Balance Sheet)

(Cash) (Sources) (Uses)

”

LossA/c

(–) Less : Increase in Debtors 12000 12000

Net

Gross Profit

Net Sale

5000
20000

5

8000
25000

4
1


